Chapter 7 Review

Sections labeled at the start of the related problems

1.6 State whether the equation is an example of the product rule, the quotient rule, the power rule, raising a
product to a power, or raising a quotient to a power.
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Multiply and simplify. Leave your answer in exponential notation.
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Divide and simplify.
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Evaluate.
6) Evaluate -x0 for x = -2.
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7) Evaluate (-x)0 for x = -4.



Write an equivalent expression without a negative exponent.
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Write an equivalent expression with negative exponents.

Simplify using only positive exponents. Leave the answer in exponenetial notation.

15) (5x=3y~4)(4xy~3)
Lod \p

=(51) %
i%’y L{l/B




Simplify. Write the answer using only positive exponents. Leave the answer in exponenetial notation.
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Identify the radlcand and index. —
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For the given function, find the indicated function value, if it exists. If the value does not exist, answer "Does not

exist".
25) For g(x) =4x2 - 20, find g(5).
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Simplify. Unless otherwise specified, assume that variables can represent any number.
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Simplify. Assume all variables represent nonnegative values.
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For the given function, find the indicated function value, if it exists. If the value does not exist, answer "Does not
exist".
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36) For f(x) = \/x + 1, find f(-9).
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37) For f(x) = 4«/ - 3, find f(-13).
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Determine the domain of the function. Express your answer in interval notation
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7.2 Write an equivalent expression using radical notation and, if possible, simplify. Assume that even roots are
of nonnegative quantities.
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Rewrite using exponential notation. Assume that even roots are of nonnegative quantities and that all denominators
are nonzero.
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Rewrite with positive exponents. Assume that even roots are of nonnegative quantities,and that all denominators
are nonzero.




Use the laws of exponents to simplify. Do not use negative exponents in the answer. Assume that even roots are of

nonnegative quantities and thaf all denominators are nonzero.
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Use rational exponents to simplify. Do not use fraction exponents in the final answer. Assume that even roots are of

nonnegative quantities. / i
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etoad. All units are in meters. Find L to the nearest tenth of a meter when h =1.3 m and
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Find a simplified form of f(x). Assume that x can be any real number.”
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Simplify. Assume that no radicands were formed by raising negative numbers to even powers.
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Multiply and simplify. Assume all variables represent nonnegative real numbers. Write your answer in radical
notation. ;
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7.4 Simplify by taking the roots pf the numerator and the denominator. Assume all variables represent positive
numbers.
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Divide and, if possible, simplify. Assume all variables represent positive real numbers.
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Rationalize the denominator. Assume all variables represent positive numbers

o X e >m P[0
s = %J”‘ 5.5 =

5 Jax

o

¢

[ - [z K _ Ssmx {"ﬂ

l[as??)xt// W @3“35“1”/‘/ 'axy
7.5 Add or subtract. Simplify by combining like radical terms, if possible. Assume all variables and radicands
represent nonnegative numbers.
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Multiply. Assume that all variables represent nonnegative real numbers.
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Rationalize the denominator. Assume all varlables represent posmve numbers.
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Multiply and simplify. Assume all varlables represent nonnegatlve real numbers erte your answer in radical
notation.
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Divide and, if possible, simplify. Assume all variables represent positive real numbers.
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Solve the problem. Assume all variables represent nonnegative real numbers.
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Solve the problem.
3
107) If f(x) = /5x + 4 + 2, find a such that f(a) =5
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108) The distance d in miles that can be seen on the surface of the ocean is given by d = 1.6\/?1, where h is the
height in feet above the surface. How high (to the nearest foot) would a platform have to be to see a
distance of 19.5 miles?
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7.7 Find the length of the missing side of the right triangle. Round to three decimal places, if necessary. The
legs of the right triangle are represented by a and b, and the hypotenuse is represented by c.
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Solve the problem. If necessary, round to the nearest tenth.
111) On a sunny day, a tree and its shadow form the sides of a right triangle. If the hypotenuse is 35 m long and
the tree is 28 m tall, how long is the shadow?
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112) A car dealer advertised a big sale by stretching a string of banners from the top of the building to the edge

of the driveway. If the building is 29 m high and the driveway is 44 m from the building, how long is the
string of banners?
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Find the distance between the pair of points. Give your answer in exact form and where appropriate find an
approximation to three decimal places.
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Find the midpoint of the segment with the given endpoints.
116) (3, -9) and (-1, 8) __{ /
— >
>

17|-2,-3land|3,2
22 2’2

(X'*X.? Vot 2 2+l 24 =2 Z
2 > > —>

17



118) (A7, 7) and (10, 6)
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Perform the indicated operation and simplify. Write the answer in the form a + bi.
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